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1. Write the correct alternative or answer (as the case may

be) in the following (i) to (x) :

(i) A propped cantilever beam is loaded by a
concentrated load W at its propped support. The

reaction at the prop is :
~(a) 3W/B
b)) W

(c) W2

(d) 5W/8

@ii) It is difficult to use the strain energy method if for A
a structure : :
(a) degrees of freedom are less
(b) degrees of freedom are more |

(c) degrees of redundancy are less

v’ (d) degrees of redundancy are more

@) If the hinged end of a propped cantilever (span and
flexural rigidity E7) undergoes a rotation () then

\ the shear in En beam will be :

(2) EI8/

\ AS-4137
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(®) 2E10/

(c) 3EIO/I

" (d) 6EI®/I

(iv) Clockwise moment M are acting at both the enc

of a uniform simply supported beam. The ratio

slope at the end to the slope at centre will be :
@) 05
® 1
-
V©) 2

3

(V). The stiffness factor at the near end of a membe

with far end hinged is :
(a) 4EVL
v (b) 3EL
(c) EUL
) EI

(vi) The &.m%?&g factr of a member at a joint is :

AS-4137
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& the ratio of the moment borne by the member

to the total moment applied at the joint

(b) the ratio of the area of the member to the sum

of the areas of several members

(c) the ratio of the moment induced at the far end .

to the moment applied at the near end

(d) None of the above

(vii) The flexibility coefficient f, for the beam shown in

fig. below is :

w&._m,\m
ik V1
(a) L/EI
(b) LREI
(&) LAEI
(d) LAEI

(vii)) The stiffness coefficient k,, for the beam shown in

. Fig. below is :

(a) —6EI/I’

AS-4137

‘ [51
Vo) -3E1/12
(c) 3EI/I

(d 6EI/I?

wcd

o

. (x) Fora two hinged arch if one of the supports settle

down vertically, then the horizontal thrust :
(a) is increased .

.r\ (b) is decreased
(c) remains unchanged

(d) None of these

(x)  For the continuous beam shown in fig. below, draw
.Em qualitative influence line diagram for SF at any

section between supports B and C.

1kN

\>WWTII n!\wpll%
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Section-B
Unit-I
,N. A beam of length 5m is loaded as shown in Fig.-1. Using

consistent deformation method, calculate the reaction at

B. Also draw BM and SF diagrams.

OkiN/m

3. Using principle of lcast work, determine the support
reactions at C for the frame shown in Fig.-2. The EI

values are indicated along the members.

8

Al ‘
\H\ﬂ gl .- | et

3

o e
Unit-11
4. Using slope deflection method, determine the end moments

for the frame shown in Fig.-3 and hence draw the BM &m.mBB.

" El is constant for all the members.

jo v
B 2m C
5
4m

A

am /b
4 ol

18 kN/m i -
' Fig.-3

5. A beam ABCD is fixed at ends A and simply supported at
intermediate points B and C, the other end D being kept free.
The lengths AB, BC and CD are 6 m, 8 m and 2 m
respectively. The beam carries a u.d.l. of 30 kN/m acting on
span BC and the overhang CD. The flexural rigidity is EI for
span AB and is 2 EI for the rest of the beam. dem, slope
deflection method moﬁgm:o the end moments and hence

draw bending moment and shear force diagrams.

Unit-TII

6. Using Moment Distribution method, analyze the frame showr

AS-4137 i PTC
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